Date: 11/5/2024 Time: 9:40:12 PM CST

Page 1/4

Registered Voters 7,673 - Total Ballots 4,826 : 62.90%

10 of 10 Precincts Reporting 100.00%

	.00
10 10 4,779	100.00%
4,044	84.62%
698	14.61%
26	0.54%
11	0.23%
	4,779 4,044 698 26

US SENATOR		
Number of Precincts Precincts Reporting Vote For 1	10 10	100.00%
Total Votes	4,700	
JOSH HAWLEY (REP)	3,802	80.89%
LUCAS KUNCE (DEM)	791	16.83%
W.C. YOUNG (LIB)	44	0.94%
JARED YOUNG (BTR)	35	0.74%
NATHAN KLINE (GRN)	28	0.60%

GOVERNOR		
Number of Precincts Precincts Reporting Vote For 1	10 10	100.00%
Total Votes	4,695	-
MIKE KEHOE (REP)	3,886	82.77%
CRYSTAL QUADE (DEM)	731	15.57%
BILL SLANTZ (LIB)	46	0.98%
PAUL LEHMANN (GRN)	32	0.68%

LIEUTENANT GOVERNOR		
Number of Precincts Precincts Reporting	10 10	100.00%
Vote For 1 Total Votes	4,570	
DAVE WASINGER (REP)	3,788	82.89%
RICHARD BROWN (DEM)	619	13.54%
KEN IVERSON (LIB)	88	1.93%
DANIELLE (DANI) ELLIOTT	75	1.64%
(GRN)		

SECRETARY OF STATE		
Number of Precincts Precincts Reporting Vote For 1 Total Votes	10 10 4,573	100.00%
DENNY HOSKINS (REP) BARBARA PHIFER (DEM) CARL HERMAN FREESE (LIB) JEROME BAUER (GRN)	3,813 664 64 32	83.38% 14.52% 1.40% 0.70%

STATE TREASURER		
Number of Precincts Precincts Reporting Vote For 1 Total Votes	10 10 4,590	100.00%
VIVEK MALEK (REP) MARK OSMACK (DEM) JOHN A. HARTWIG, JR. (LIB) REAGAN HAASE (GRN)	3,810 592 117 71	83.01% 12.90% 2.55% 1.55%

Date: 11/5/2024 Time: 9:40:12 PM CST

Page 2/4

Registered Voters 7,673 - Total Ballots 4,826 : 62.90%

10 of 10 Precincts Reporting 100.00%

ATTORNEY GENERAL		
Number of Precincts Precincts Reporting	10 10	100.00%
Vote For 1 Total Votes	4,593	
ANDREW BAILEY (REP) ELAD JONATHAN GROSS	3,911 599	85.15% 13.04%
(DEM) RYAN L. MUNRO (LIB)	83	1.81%

US REPRESENTATIVE DISTRICT 8		
Number of Precincts Precincts Reporting Vote For 1 Total Votes	10 10 4,649	100.00%
JASON SMITH (REP) RANDI McCALLIAN (DEM) JAKE DAWSON (LIB)	3,972 586 91	85.44% 12.60% 1.96%

STATE SENATOR DISTRICT 33		
Number of Precincts Precincts Reporting Vote For 1 Total Votes	10 10 4,064	100.00%
BRAD HUDSON (REP)	4,064	100.00%

STATE REPRESENTATIVE DISTRIC	T 155	
Number of Precincts Precincts Reporting Vote For 1 Total Votes	10 10 4,532	100.00%
MATTHEW OVERCAST (REP) COURTNEY SWEENEY-LEGORE (DEM)	3,874 658	85.48% 14.52%

CIRCUIT JUDGE CIRCUIT 44		
Number of Precincts Precincts Reporting	10 10	100.00%
Vote For 1 Total Votes	4,106	100.0070
CRAIG CARTER (REP)	4,106	100.00%

EASTERN DISTRICT COMMISSION	ER	
Number of Precincts	6	
Precincts Reporting	6	100.00%
Vote For 1		
Total Votes	1,994	
JIM BRITT (REP)	1,994	100.00%

WESTERN DISTRICT COMMISSION	ER	
Number of Precincts Precincts Reporting Vote For 1	6 6	100.00%
Total Votes	2,175	
LAYNE NANCE (REP)	2,175	100.00%

SHERIFF		
Number of Precincts Precincts Reporting Vote For 1	10 10	100.00%
Total Votes	4,136	
CASS MARTIN (REP)	4,136	100.00%

ASSESSOR		
Number of Precincts	10	
Precincts Reporting	10	100.00%
Vote For 1		
Total Votes	4,103	
JAMA M. BERRY (REP)	4,103	100.00%

Date: 11/5/2024 Time: 9:40:12 PM CST

Page 3/4

## Registered Voters 7,673 - Total Ballots 4,826 : 62.90%

10 of 10 Precincts Reporting 100.00%

CORONER		
Number of Precincts Precincts Reporting	10 10	100.00%
Vote For 1 Total Votes	4,232	100.00 /6
GENE BRITT (REP)	4,232	100.00%

Number of Precincts	10	
Precincts Reporting	10	100.00%
Vote For 1		
Total Votes	4,232	
GENE BRITT (REP)	4,232	100.00%

SURVEYOR		
Number of Precincts	10	
Precincts Reporting	10	100.00%
Vote For 1		
Total Votes	4,131	
MATT WADE (REP)	4,131	100.00%

PUBLIC ADMINISTRATOR		
Number of Precincts	10	
Precincts Reporting	10	100.00%
Vote For 1		
Total Votes	4,076	
MELINDA ABRAHAM (REP)	4,076	100.00%

RETAIN SUPREME COURT JUDGE KELLY C. BRONIEC		
Number of Precincts Precincts Reporting	10 10	100.00%
Vote For 1 Total Votes	4,038	
YES NO	3,162 876	78.31% 21.69%

RETAIN SUPREME COURT	JUDGE GINGER K.	GOOCH
Number of Precincts Precincts Reporting Vote For 1 Total Votes	10 10 4,018	100.00%
YES NO	3,102 916	77.20% 22.80%

RETAIN SOUTHERN DISTRICT CO JUDGE BECKY J.W. BORTHWICK	OURT OF APPE	EALS
Number of Precincts Precincts Reporting Vote For 1	10 10	100.00%
Total Votes	3,950	
YES NO	3,055 895	77.34% 22.66%

		THE RESERVE TO BE ADDRESS OF THE PARTY OF TH
RETAIN SOUTHERN DISTRICT COURT OF APPEALS JUDGE JENNIFER R. GROWCOCK		
Number of Precincts	10	
Precincts Reporting	10	100.00%
Vote For 1		
Total Votes	3,931	
YES	3,033	77.16%
NO	898	22.84%

CONSTITUTIONAL AMENDME	NT NO. 2	
Number of Precincts Precincts Reporting	10 10	100.00%
Total Votes	4,637	
YES NO	1,637 3,000	35.30% 64.70%

Date: 11/5/2024 Time: 9:40:12 PM CST

Page 4/4

Registered Voters 7,673 - Total Ballots 4,826 : 62.90%

10 of 10 Precincts Reporting 100.00%

CONSTITUTIONAL AMENDMENT NO. 3			
Number of Precincts Precincts Reporting	10 10	100.00%	
Total Votes	4,708		
YES NO	1,346 3,362	28.59% 71.41%	

PROPOSITION A		
Number of Precincts Precincts Reporting	10 10	100.00%
Total Votes	4,602	
YES NO	1,920 2,682	41.72% 58.28%

CONSTITUTIONAL AMENDME	NT NO. 5	
Number of Precincts Precincts Reporting	10 10	100.00%
Total Votes	4,561	
YES NO	1,644 2,917	36.04% 63.96%

CONSTITUTIONAL AMENDMENT NO. 6		
Number of Precincts Precincts Reporting	10 10	100.00%
Total Votes	4,398	
YES NO	1,684 2,714	38.29% 61.71%

CONSTITUTIONAL AMENDMENT NO. 7			
Number of Precincts Precincts Reporting	10 10	100.00%	
Total Votes	4,533		
YES NO	3,440 1,093	75.89% 24.11%	

Public Administrator Write In Kim Wilson 50